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M.A. (FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

(SOCIOLOGY)
PAPER FIRST

(CLASSICAL SOCIOLOGICAL TRADITION)

Time : Three Hours] [Maximum Marks:80

 
Note : Attempt all sections as directed.


Section - A

(1 mark each)


(Objective/Multiple Choice Questions)

 

 Attempt all questions.


 Choose the correct answer:

P. T. O.
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1. 
(A) 
(B) 

(C) 
(D) 
What is the year of French revolution?
(A) 1768
(B) 1779
(C) 1789
(D) 1799

2. 

(A) 
(B) 
(C) 
(D) 
From where Industrial Revolution Started?
(A) Ingland
(B) France
(C) America
(D) Europe

3. 
(A)  (B) 
(C)  (D) 
State the year of entry of sociology in India -
(A) 1898 (B) 1904

(C) 1914 (D) 1947
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4. 

(A)  

(B) 

(C) 

(D) 

What level of knowledge are basis of logic and obser-

vation?

(A) Fictitious Stages

(B) Metaphysical Stages

(C) Positive Stages

(D) None of the above

5. 

(A)  

(B)  

(C)  

(D)   

By what name did Comte call it before naming it 'Sociology'?

(A) Social Mathematics

(B) Social Astronomy

(C) Social Physical

(D) Social Chemistry

P. T. O.
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6. 

(A) 

(B) 

(C) 

(D) 

Where did the thinking of August Comte begin?

(A) Positivism

(B) Law of three stages

(C) Hierarchy of Sciences

(D) None of the above

7.  

(A) 

(B) 

(C) 

(D) 

When was August Comte born?

(A) 1698

(B) 1748

(C) 1798

(D) 1838

8.  

(A) 

(B) 

(C) 

(D) 
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In which year did Comte give birth to Socilogy?

(A) 1822

(B) 1838

(C) 1922

(D) 1938

9. 

(A) 

(B) 

(C) 

(D) 

In which year was Emile Durkheim's  born?

(A) 1798

(B) 1820

(C) 1858

(D) 1864

10. 

(A)   

(B)  

(C)  

(D) 

In which book Durkheim's "Social Solidarity" described?

(A) Sociological of Education

(B) Sociology of Philosophy

(C) Moral Education

(D) The division of labour in society

P. T. O.
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11.  

(A) 

(B)    

(C) 

(D)  

In which book did Durkheim's explain 'Social Fact'?

(A) The Division of labour in Society

(B) The rules of Sociological Method

(C) Suicide

(D) The elementry forms of religious life

12. 

(A) 

(B) 

(C) 

(D) 

Vilfredo Pareto belongs to which country?

(A) Italy

(B) France

(C) Germany

(D) England

13.  

(A) 

(B) 

(C)   

(D) 
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Pareto's logic-expermental method is not related to-

(A) Observation

(B) Testing

(C) Theory of probability

(D) Subject study

14. 

(A)  

(B)  

(C)  

(D) 

Residues relation is related to which action?

(A) Logical actions

(B) Non-logical actions

(C) Irrational actions

(D) None of the above

15. 

(A) 

(B) 

(C) 

(D) 

What is Pareto's social change related to?

(A) Evaolution

(B) Conflict

(C) Cyclical

(D) None of the above

P. T. O.
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16. 

(A) 

(B) 

(C)  

(D)  

The 'Vepetition' in the heal is related to which of the fol-
lowing?

(A) Asseritions

(B) Authority

(C) Accord with Sentiments

(D) Verbal Proofs

17. 

(A) 

(B) 

(C) 

(D) 

When was Spenser's born?

(A) 1760

(B) 1800

(C) 1820

(D) 1840
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18. 

(A)   

(B)   

(C)      

(D) 

What is 'Harbert Spencer's 'Social Evolution' based on?

(A) Theory of physical evolution

(B) Theory of biological evolution

(C) Physical development or biological development.

(D) None of the above

19. 


(A)   

(B)   

(C)  

(D)  

In which book there is mention of Spencer's "Organismic
theory of Society"?

(A) Principles of Sociology

(B) Descriptive Sociology

(C) Social Statistics

(D) Principle of Ethics

P. T. O.
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20. 

(A) 

(B) 

(C) 

(D) 

Harbert Spencer belonged to which country?

(A) France

(B) England

(C) Russia

(D) America



Section - B

(
11
2  Marks each)



(Very Short Answer Type Questions)

 

Note: Attempt all questions.Answer in 3-4 sentences.

1.     

Explain the meaning of Industrial Revolution.

2.      

Define the effects of French Revolution.
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3.   

Define the meaning of Social Statics.

4. 

What do you mean by Hierarchy of Science?

5. 

Explain the definition of Religion by Durkhem's?

6.     

Define the Functions of division of Labour?

7.    

Explain the meaning of Residues in Pareto?

8. 

What is Derivations?

9.    

Define the meaning of Physical Development?

10. 

What do you mean by Social Evolution?

P. T. O.
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

Section - C

 (
12
2  Marks each)



(Short Answer Type Questions)



Note : Attempt all questions in 75 words.

1.    

Describe the causes of the French Revolution?

2.    

Explain the Outcome or Impact of Industrial Revolu-
tion?

3.    

Explain the positivism?

4.     

Define the Social Dynamics?

5.     

Describe the characteristics of Methodology.

6.  

Explain the concept of Social Facts.

7.      

Describe the theory of Social Action of Pareto.
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8.     

Explain the meaning of theories of Residues.

9. 

Describe the theory of Biological Development of
Darwin's?

10.      

Define the organismic theory of Society?



Section - D

(4 marks each)



(Long Answer Type Questions)

 

Note : Attempt all questions. Word limit 150 words.

1.       

Define the concept of Industrial Revolution?

/ OR



Write a short note on 'Emergence of Sociology'?

2.        

Explain the 'Three Evolution stages of Social
Thinking.
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/ OR

     

Define the scheme of Social Reconstruction.

3.  

Describe the 'Theory of Suicide'.

/ OR

   

Explain the Theory of Religion.

4. 

Define the ''Theory of the' Circulation of Elite.

/ OR



Describe the 'theory of Logical and Non-Logical
Action.

5. 
 

Analyse critically Herbert Spencer's 'Organismic
Theory of Society'.

/ OR



Write a short note on Spencer's Social Evolution.


